[ normalized x? probability |

Entries

2 4 6 8 10 12 14 16 18 20
X2

=== DQMstep3_TT_CKF

= DQMstep3_TT_CKF-tok

5 —
< A H
= - N
=< o .
\% e .
o B
© :
v L
: “H
B
: H
B
_cE i
Re] o 1
T g 2F 1
o o 1
1P
0 | 1
=3 -2 -1

0 2 3
TP n (PCA to beamline)

< x2/ ndf >
< X2/ ndf >

Ratio

5
= 5
5 o X
A o N
- o
o o H .
- F R :
o -
o 3 h !
\Y 3 . .
E 11| :
£ 4 . .
1 4 D R
F 4] | £ .
0 B A{{{f-- -t
F 14T | N
1k N T A
1 N .
_aF i i i
o A KK ] R CE L LR
ks |
= ] : :
0.5 f------ F I O | EEEE TP PR e

. ] : :
10" 1 10 10? p103



	Contents
	Page 1


